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16 P + Q' means ‘P is the mother of Q', P - Q'

‘means ‘Pis the brother of O, P + Q' means Pis the

father of Q' and ‘Px Q' means P s the sister of Q',
jing represents

cections (Q. Nos, 1-10): Sty the flloving English lphabet then which of the A is the
eoer th guesions that folloo uncleof B'?
ABCDEFGHIJKLMNOPQRSTUVWXYZ @ B-N+MxA (® A+SxN-B
1fcounting from the et the order of the firs halfis © A-MeNxB (@ B-S+A
which letter will be the second to the (© Noeofthese
5 Ajay said, She s the wife of
@ 0 ®C my mother's only son'. How s Suneeta related to
©P @D Ajay?
@B (@ Wite ) Sister
Four of the following five are aike in respect to © Seriniaw (@) Daninadequte
their position in the English alphabet and hence p iy
el o o} turned to her ight and
— A ‘walked 2kam. Thenshe tumed toher leftand walked
b bl 10 ke, Finally she headed towards South. In which
i rdotoy direction did Sarojstartherjourney ?
© LOR a

-

Which of the following will be tenth to the right of
left?

(@) South-East

(© Noneof these

Ina row, Siya is twelfth from the left and Ramu is

19th from the right end. On interchanging their
L How

?

® 40
(@ DataInadequate

The following questions

written in that code language?
(@) NCLVIQSQD, (b NCLVIQSQC

© NCLVIQROC (@) NCLVIGSQG

© Noneofthese

e e i ¢
means ‘", then what will be the value of 10+ 5 +
w2117

@ 20 ® 2

© 1834 @4

() Noneof these

11, Escape: Abscond
(a) Endless: Etenal (b) Flee: Surrender
(© Exult:Jubilate  (d) Escalate: Weaken
(@) Confront: Submit
12. Host:Hospitable
(@) Artist:Imitative () Guest: Rude
(9 Humanitarian: Altruistic
(@ Idealist: Cynical
(© Pollyanna  Pessimistic



(@) Ignore: greet
ABD:EJL

© 4 @ s

@2 © 4
©8 @12
(€) Noneofthese

18. How many cubes have only two colours red and.
black?
@4 ® 12 ~
@6 @2

19. How many cubes have only black colous?
@12 ® 8
©4 @16
(@ Noneof
Directions (Q. New 0223 Incachofte follosseng eters

of thelternatives. Choose the correct alternatives.
20. adb_ac_da_cddcb_dbc_cbda N

(@) becba cbbaa =
ccbba (@ bbead

() Noneofthese

21 a_bd_da_dbe_b_de

(@ aabbe ®) bbeca

© (@) ccbaa

(@ None of these

_aba_cabe_beba_bab_a

(a) abdca ®) beade

(©) abedd (@) chdaa

(@) Noneofthese
Directions (Q. Nos. 23-30 ) : Arrange the following
questions in their ascending order

.

3. 1 Yam 2. Plant
3 Saree 4 Cotton
S Cloth
@ 24513 ®) 2.4,3,51
© 24153 @ 24531
&) Noneof these

24 L Hewo

. 3 Dea
5 Des
@ 13452
@25314
&) Nomeof these

25 1L Table 2 Tree

© 3 Weod 4. Seed
'S Plamt
@ 12345 ®© 13245
915231 @ 45321
© Noneofthese

26 1 Rainbow 2 Rain
3 Sen 4 Happy
5. Chid
@21435  ®23154
@ 42351
© Noneof these

2. 1 Foes
3 Baby
5. Youth
@ L2435
© 23541
(@ Noneof these

2 1
3
5.




(a) Fumniture () Cottage in bold to help you locate them while answering some of the
(©) Carpenter (@ Mason o questions.
(©) Noneofthese 7 For many years, the continent of Africa remained
e T h o
contains five Problem Figures’ and fioe The i ad
ide consit s, Youhave to Many people
problem figure, “Anstver i -
Figure'is your answer. explored part o Afrca but also lived among the tribals
£ i
with the idea of expanding their respective empires,
Livngstome did > to ‘explore its vast and mysterious
[FRFREBE] e e vy e
@® © @ e
35. Problem Answer Figures withit

Livingstane was bom inScotland and was educated to
t the

_ v 1852

@ ® (‘\ 1d| ‘QY it Luanda. However,
: ; RE :
e :
PREREREREH X oG
- 3 @O O @E ‘He discovered the origin to the River Nile in 1866. He
L I
@b © @@ but L
. e

L N ilagi ey el e hich of e
following?

@ ® ©.@© ol i

39. ProblemFigures  Answer Figures Tt BN
gﬂﬂﬂg B EE © wwﬂo{wmhvmgmuﬂgﬂm
@00 e @ Forquedinghi it oy

() Noneof these



vam the impact of four year travelling on () Relentiess efforts for finding out the whereabouts
Livingatone.

() He derived satisfaction with the exploration of O
anunknown sver
@ (M-l'lmwdy ®) ()and (C)onl
{€) He derived satisfaction as me 2
He derved stistacion o he bocame very : Wand ©nly. (@) (B)only
(@) Itbadiy affected his health R S—
(e) Noneof thes % o b
e fone of these. {A) peoplein the world lost contact with him
e very famous? .
@ Queen b
‘had come to welcome him
) Queen Victoria arranged for the .. _"""" . f:’, ooty
4@ @only ©only
e 149 nwmbauwmyamlnnmwmm i
inthe social mainstream
7 v ~ different from those of others?
‘was a medical professional et .
(@) Noneof these r forests S

44. Why were people not aware of the existence of S
Adgea? "w "o know the mysterious parts of the
(@) It was inaccessible due to oceanic reefs -

y new parts of the world for
(© People outside the continent were chased away ,M but Livingstone did so for religious
by nature tribals
(d) Explorers were afraid of therisks involved @ H‘-med.lalpﬂdﬂm et berpire
(©) Noneof these ‘medicines; others i for trbal populat
l.lvlngllan! can best be described by which of the (€) None of these
following Directions (50— 52): Chaose the word which s ost nearly
(@) A person with an-Srge for exploration of
unknown, world passage.
(b) A person with religious mindset SR
(©) Asocial eformer Wirgmainder, . 0, 5
(d) Awarmhearted medical practitioner ((c)) iy @
(©) Afamous priest popular amang the Brish ©
. EXPLORATION
46. Which of the following wasiwere explored by 51 i

Livingstone? e, f:’; i
(A) Ariver in Western Luanda (© foundation
(B) Scotland (o zived

) The origi er Nile 52 TURNED
(© Theoriginof river Nile it o
(@ (A)and (B)only () (B)and©only @ >

(@ (A)and©only (@) (A)only. g spiined o

(E) Lﬂhm\ Jhich is, most
o. bican Jourmallst Sianiey can be credited rections (53 — 55 : Chose the word which is
e e e ing R AL PR i o i word i ot s i the
(A) Performing the las ritcs of Livingstone's dead  Possage.
body.



i@
(@) crowded () dark £
© spare @ 3
@ opague
54. BARREN
nculivated | ©) fertle
prgs @ wie
() marshy :
N st @) magrfed
1€ "emomous @) gigante
(@) small tier

(56— 65): Read each .
famy, will beimone.
it Theerror, ifany,will e

§s no error, the answer i (e) ie. "No Errar (Ignore the errors of

punctuation,ifamy).
o gaionmadeby o) imhardlyyield ©)/
wl\amm\d\mm (c)/ about. the crime. (d)/
Noarmor(©
What youhad started a)/ the work, youshould (©)
it you (6 butit could notbe provee. o
Noerror ()
‘When; (@ the work, youshould ®)/
e that you (0 on water efortessly. &)/ No

3 you
can float (€)/ on water effortlessly. (d)/ Noerro (e)
60, we

whwh,m\emayhtwln‘iyﬂ.ﬂemm\baolhtwud

" could not reach (¢ the farthest point. (d)/ Noerror
©

When we heard the name (a)/ of our leader uttered

(b)/ respectfully by the foreigners )/ wefeltpride of

him. (d)/ Noerror (¢)

It goes to his credit (a)/ that he was a clean man (b)/
in politicsas wellas (c)/ we fet pride of him. (4)/ No
error (e)

His strictly discipline (a)/ has made him (b)/ very
popr ong €/ ll i Slkplgeck )/ No

Jamshedji knew that (a)/ an industrial revolution

B

2

. He'beingthe ldeston (1) g s 1o )10
@

(€)ie. “All correct” as the answer.

Noemr( "

Directions (66.-70): Pick o the most ffectie word,
the given words to s il i the bank to mak the sentence
meaningfully complete

71. (a) Discloser ®) Indifference
© . @ tmeversible:
(e AllCorrect

72 (a) Repeatation  (b) Conservative
(© Accepability  (d) Tnnovative
&) All correct

7. (@) Viglant ©) Jubilee

Receiptive (d) Possessive

(© Allcomrect

74. (a) Decisive (b) Destructive
(©) Accommodation (d) Pioneer
© Allcomrect

7 @ ®) Enthuciasm
O R, =i

ansawer the questions given below them.



2]

2

“They are not bothered to break rules of the society.
But one thing i crtain. . They will one day realize
this importance needs to be shifted.

osenpy generally ready to go to any extent to.
posses these materaistic dspects.

), 31 ®) 25
© 25 @19
©) Noneof these.

3. Which of the followings is a true statement ?
(@) The difference of two natural numbers s always.
2natural number

socially desirable values.

‘This is all because of the undue importance attached

tothese aspects
Money, comfort, I\uurws have dominated all ofher
considerations these

. Which of the raumm., lhnn]d be the FOURTH

® Thed rndbiac
9 The quotient of two rational numbers s always
rational

e

sentence after rearrangement “ B e
5 ® E (© 410883 (d) 385641
@D @c © Allofthese
L 85 When a certain number is multiplied by 13, the
sentence after rearrangement? . mumberis:
@F ® E @) 41625 (®) 42515
© D @c - © 42735 (@) 42135
©B @© Allofthese
Which of the following should be the FIFTH 8. IfA=(123,4landB=(567), Then ANBis:
sentence after rearrangement? @ .23 ® 56,7
@ F ®E © W @23
©D @c (e Allofthese
©B §7. Whichof the following is a true statement ?
Which of the following should be the FIRST @ (AUB)=(A*UB)
after rearrangement? ® (AUB)=ANB*
@F ® E © (AUBF=A*nB
©D @c @ (AUBF=AY B
88 IFACB, then A-Bisequalto:

@B
Which of the following should be the SECOND

sentence after rea
@ F ©) E wimet
© D @c e
©B

® B

;- 1056 togeta
number exactly divisible by 237 >
@ 21
©2 @5

(©) Noneofthese
What is the total number of prime numbers less
than 1007

%0. 1 /5 =1732, vnm.q’;i-:
@ 0174 ® 0314
© 0577 @ 0754
(© Noneof these.

S1. Match the following —Square root
A 181



3.

£

.5

g

B 2025 @ 91 () 1031
c 305 @3t (@ 1233
D. 6561 (@ Noneof these
correctmatchingis 100. A number which s both even and prime s:
(@) 1421 g, - ol ®)'3
© 812 @5 @2
© Noneofthese £ (@) Noneofthese
The smallest perfect number which is 101 Inthe which is the greatest number?
divisible by 15, 18 and 25 is @ @ ®) (2+27F
@ 625 ® 900 © @x2x2¢ @ @+2+2
© 150 @ 25’ (@ Noneof these.
() Noneofthese dlosmddd 08 gep mufounhpmpotﬂnlﬂlol7!mdu?
£ - @16
ThtvduenlE'Eh: © 2 (dy o
(© Noneofthese
::' f g zl 103, IfA=BandB= CthenwhatisA:
© Nomeofthese R Bk
Aboughta radio for?500and sold itfo Bat 5%
i ¢nm¢Bwld|(mCxl5\ﬁlnuwyﬂl:; te) Nmum
A e of th adio for C? 104, Whatis the ratio between 50 cm and 4m? _
(@) X4875 () X37560 @18, b);2:7
© a5 (&) T 48060 Q%2 835
@ Noneafthese @ Nomeotiog
. 105. Whatshould be added (08,2113 and 31 o that the
Tos themseling mm..zmwnuu.mmn
oions @4 o8
® ﬂm cp; 220 ©5 @7
©3 (@ T380 (©) Nonéofthese
© e v 106. Meenu can read 8 pages of anovel in 30 minutes. If
% the novel contains 80 pages then what ime she will
Still makes a profitof 25 wmmmumpman
(@ 8days ©) 11days
© 14 days (@ 5days
© T2 (@ 27560 (@ Noneof these
] N(,,.w;.m 107. Kamiesh, Lazwati and Yashoda can doaworkin§,
Y " g 12, and 24 days separately. In how many days three
Thenwhatwil e gain 47
@ 21% ® 15% @ 4days © days
© 25% (@ 10% (o) 3days (d) days
(© Noneof these: © Noneof these
< 108.. Aand B together a work in 28 days. Th
i ils are boughtfor £10and 10 penclls are hed the work with the help n(CmZ]’diys 74
@ 18% ©) 16%
© 2% @ 10% @ B s
(© Naneot e éc; L (@ 45 days
tion of Division Divisoris, qoflent S50 105”350 i i atsin 15

Ina
"m Remainderis, then What willbe the divided?



‘container an exact number
@s ) 15
o3 @ 10
& None of
120 Findtheleast umber whichwhendivided
12284 15, leaves the remaind, ched
@ 359 ®) lsx
© 179 (@ 361
© Noneoithese
- B
21 Which ane was used first by human bging?
(@) lron () Silver
@ Copper @ Tin
@ Noneofthese.
X two numbers is 11:15. I their H.CF.is
um..-nm-dnuu-—_w 122 Gy Mangr'iselated o
(@) 143,195 ©) 195,143 @ Rigveda ® Yaturveda
© 110,150 (@ 121,165 (© Samveda @) (a)and (&) both
(©) Noneofthese (@ Noneof these
3 wnaml.cMnm)znandlﬂ e B TR
® : s o Dt in Nagr
(@) Bimbsar ®) Ajatshatru
© Udayan (@ Dhannand
(@) Noneofthese
24 Whi y Buddha in
his preach ro serman?
e @ Dravid ®) Sanskrit
The largest number that divides 245 and 1035, @ Pali (@ Allofthese
is © Noneof these

17.

lesving eminders i exchcse
125 Where was the capital of kanishque?
() Srina

(@) 14 ) 18

© 17 @15 S @) Kannay \gar
() Noneof these " +(e Purushpur (d) Pataliputra
Apersonus e ron bars whose lenglhs a8 ) Noneorhese

26 ini
um,m possible pieces, all of the same length from.
each of the three bars. What is the length of each “ QR 5.5 0) Tushasp
e ol (@ Kanishque
u Noneof these




27.

B

132,

. The constitution provides fora parlimantary

1e) Noneuflhr
national commission 10 feview the

Earth s the part of galaxy ~ 136, The railways on 22 january, 2013 decided to
i:)‘ "‘“"‘" minge, f: Maniky undertake a cleanliness drive atabout 100 important
o) Nom, S e tatics across the country and equip maximum
hkeun.hewndd’ X e (a) bio-toilets () help counter
o B R ) cleanins machine (@) (a)and (b)both
£ Nonasfthess felebNome othess
H 137. in, March 2013, 500
the world? specisl passage from the Centre for providing relef
(@ Rocky. ® Kamakoram tocalamity affected formersinthe state?
b . (@) Madhya Preadesh
3 wmchuullzddlnqofﬂk-wlﬂ (b) Rajasthan
Mount Everest (©) Gujarat
&) Pamir Plateas @ erand (o (@ Odisha
(&) None:
constitutions of public Accounts Committee first O egl
138, NAK
uggest
e 40 ibh. i 1Jan. 2013
@ 10members (5 7members at Phalodi near .
(c) 5members (d) 3Members
(e) Noneof the (a) Pune {b) Purulia
cumnmo...| Amendment Act has provided for (©) Mangalore () Jodhpur
ions status for the panchay nRa]mmihnd () Noneof these
ion for woman a separate istof subjectsand 139, The con B s principles ot sta
P ety % e oo soedintond]
P P policy was borrowed by our constitution from the
() 73 (d) 83 constitution of —
(e) Noneof these. (a) America (b) Russia
. Avide.._.ofthe Indian consiutionttstht the el .
Aot it 1
pmmdl only. alvellgmn, cast, sex, phc! of birth or .
ot 140, Fundamental Rights are not give to
s © 14 (@) Citizens, &), Migrant
Rt (d) (a)and (b) both

(@ aliegns
() Noneof these

in

Sl 141

updanm\slhecnnsnluhonsoflnd!z (a) Uttar Pradesh ~ (b) Purjab

@) 2001

i:s) it it 2 (@) Haryana (@) Andhra Pradesh
(9 Noneo these

form of
govermment which is fedral in sturucture with
contain unitary feature. The constitutional head of
the Executive of the union is .
(a) Prime minister (&) Govemor
(©) President (d) Chief Mirister
(e) Noneofthese

142,

Who among the following won the Femian Miss
India 2013, Contest in March 20132

(@) Sobhita Dhulipala

(b) Zoya Afroz.

(©) Anuki

(@ Nayneet Kaur Dhileon

(¢) Noneof these



all-

(a) Final goods and service produced in an economy
inayear

®) Pro

@ (@) and (b) both,
(©) None of these:

(@) Average goodsand services economy ina year
(d) Allofabove
(©) None o these

. An exceptional demand curve is one that moves -

(@ upward totheright
) downward to heright
©

the following states has the highest percentage

availing of banking services?

(©) (@)and (b) both
) Alltheabove
(© Noneof these

(@) (2)and (b) both.
(€) noneof these

u‘--wllh(lhmﬁ&nlldhdhm.in
Jan. 2013 increase of the price of its vehicles by up
o

@ Rs,5000 () Rs. 40000
(€) Rs. 20000 (d) Rs. 30000
(©) Noneo these

. Which airine in january 2013 cut ticket price by more

that forced its rivals to follow suit?
@) Indigo " o) ‘Al Inctia
(©) SpiceJet (@) Sahara India
(© Noneof these

() ARINC @ TRINC
(€) None of these:

- The advance taxes in the third quarter of fiscal 2012-

13g7€W by ..... to Rs. 78266 crore.




157. 4 Feb. 2013 Intemational Cricket Council ranking 164 Innovation means—

fortest was rel impeipation:
(@) Tran () Russia ®) Inspiration
(9 England (@) Dubai (© Additional
(e) China {d) Implementing new ideas or new methods
158, Whois the Tennis winner 17 Feb. 2013 (Brazil Open (© Noneof these
2013)7 165. A Call means—
(I)VMCGH"\ (b) David Crow 0 (a) Calling on friends
(© Rafact Nadal (@) Mahesh Bhupathi (®) Callingon Bank employees
(&) Noneof these. . (© Calling on Prospective customers
150, Tennis @
player? (@), Callingon relatives
(a) Sania Mirja (b) Serena Williams 166,  The Traditional Marketing style involves—
(©) Venus Williams (d) Martina Hingis (@) Telemarketing”
(©) Noneof these () Digital Marketing.
160. Services beat which team in the final of the 67th (©) Indirect Marketing.
Santosh Trophy football tournament played at (d) DirectMarketing
(e) Allof these

Jawaharlal Nehru Stadium in Kochi in March 20137
(@) Kamataka @) Kerala

(0) Indian Railways

(@ Maharashtra

(@) None of these

167 Modern methods of Marketing include—
(@) Publicity on thenet
() Advertisementonthenet
(@ Soliciting business through e-mails

161, Cross-selling covers—

(@) Identifying custorrier needs ) Control mindset
® © i
Convinci catls Py
@ Responding o questions and objections o o
© Allofthese 169. Which o the following sentences is True ?

162. A Prospect means— (a) Marketingis not required in a Buyers’ Market
(@) Any customer who walks intothe Bank &) Marketingis not equired in a Sellers' Market
by ; © Marketingsnot requind e o loblizaton

«

Productor service.

(@) ADepositor of the Bank (e) Marketing s not required due to liberalization

() ABorrower of the Bank 170. the salesmen should have
163. A Lead means— V\B“Mwﬂﬁﬂ—
(a) A Prospect who is more likely o avail of the (a) Creativity
% () Team spirit
(©) Motivation
(d) Effective communication skills
(d» A Bank Chairman ©"Allofthese

(e) Noneof these



. Marketinformation means—
(@) Knowledge of shops and bazaars.
®

(). Knowledge of customer profile and p ix g s wddtishal vioek
(@ Knowledge of various languages i rhet team work
(©) Noneof these. i not required today due to IT
Market Research is needed for— P -~ o
(@) Deciding the marketarea
(®) Deciding the right product to be sold
(© Making proper marketing decisions
(@ Deciding right time tosell
(© Allof these

. Whichof the followingstatements i True?

@ Yiarkeirg mates the Company ool
® Mnrlunng oo reied i ped

@

It Marketing is done effectively,
isnot required—

(@) Advertisement

(d) MarketSegmentation
(©) Noneof these
. Motivation means—
(.) mwmvplvymwpm«mbm

. InaSelling Process n today's world—
(@) Onlystandard products aresold
(b) Nocustomization required 4
(©) TheSeller need not have product kno
(@ The Seller should aim at customer sat
(©) Only quantum of sales matters




186. With a CD you can—

(a) Read
(®) Write
() Neither Read nor Write o
(d) Both Read and Write .
() None of these. -

187. Errors i
(a) Bugs () Mistakes
() Item overlooked  (d)  Blunders

(e) None o these

188, Which of the fouowm. o
be carried around easi

(@) Laptops

(© PCs

(€) None of these
189. What menu is selected to change font and style?

(@) Tools ()  File
Edit

(®)
()

s..pmu
Minicomputers

190. Where is the disk put in a computer ?
() In the hard drive
(b) In the disk drive
(©) Into the CPU
(d) In the modem
(€) None of these
191.A computer's hard disk is—
(a) An arithmetic and logical unit
(b) Computer software
() Operating system
(d) Computer hardware
(€) None of these
192. A compiler is used to translate a program written
(@) A low level language
(b) A high level language
(c) Assembly language
(d) Machine language
(e) None of these
193.In programming, you use the following keys—
(a) Arrow keys
(b) Function keys

(c) Alpha keys
(d) Page up and Page Down keys
() None of these

194. Which keys enable the input of numbers quickly

(d) Arrow keys
(e) None of these

195 Files are organized by them in—
() Tables () Databases
() Folders " (d) “Graphs

(€) ‘None of these
196 The secret code that restricts entry to some

programs—
(a) Entrycode (b)  Passport
(c) Password (@ Access-code

197. Advertisements are not required in—
(a) Public Sector banks
(b) Private Sector banks
(©) Government concerns
(d) Profit making companies
(e) None of these

198. The most common of entering text and
numerical data into a computer system is through
the use of a—
(a) Plotter (b) ‘Scanner
(c) Printer (d)  Keyboard

() Operating systems
(5) Documents
() Peripherals
(d) Applications

(© Memory ()

() None of these
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